
Oropa : (W16a) (- 13y
P) . (-4y =

Aoyon 1 :

Na Kavata tipajais Mouripur :

a) (-23y") . (3y7) = 3) -ExB+ 4xB =

6)18as n)2x +y =

d) 7a + 17a = O) -26

a)x3 + 14x3 = 1) - 17x
*

- 7x1 =
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k) (27y") . (- 4y'3) = 0 -387

1)x5+ 4y5 = π) - 19 + 19x14 =

H) -102 9)-

v) - 23y4 + By2 =
0) ( -8z) . )-7z') =

3) 5x+ x = T) - x*+ x
*

=
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u - EX" + 7X"= all6032

4)
-302 6) ( - 38822) .(-1918) =

X) (- 15a24) . (- 10a30) =

6)13.

4) -4523 G') (- 8617) . ( - 16823) =

w)(- 10x7) .(7x) = El)Y+ yE
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3) -90 71)Wo -

n)) (- 8 x37) . (3x43) = H)- 19 y 190

VI)-144x19
d) (- 14x83) .(- 2)y97) =

3)) (- 1821 x 1922) .( 12x183) =

1) (- 121y 132) .(- 119460) =

(l) - y3239 = p)30
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